o

@Zx

® xy @ 2xy ® 242

@ 3x




@@ +8)a-8) @ (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)
® (a+16)(a-4)

‘ﬁ—M:ﬁ—§:w+&@—&




3.

xX2—dx—-A=

® -36

B

@ -54 @36

@ 54

(x+5)(x-B) & 1525 Hrh. A-B 9| g& 513

® 64

X2 —4dx -

B=9
. A-B=

A

= (x+5)(x—B)
= x> - Bx+5x—5B
=x2+ (5-B)x-5B

5—B=-4,5B=A
A =145
45-9=36




A
A4=7 (B A= 3)

® 2x -3y @ 2x-y
@ 2x+ 3y ® 2x+ b5y

oA 2x% —xy—Ay? o] x-2y & 152 7 o, Tt 5 o] tof
o 2

® 2x+y

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy - 2my?

—4+m=-1,m=3

A=-2m,A=6

L 2x2 — xy — Ay? = (x - 2y)(2x + 3y)




= T Al FE0NA O, @l ©l-8H 4= E7]oA

+2xy+1yi—1
T g
=(z+y+1)(z+ y—l)j©

B
71 a +2ab+b2 (a+0b)?

“h
(Hh) @® - % = (a+b)(a—b)
(th) »? +(a+b)x+ab—( a)(x+b)
(2H acx® + (ad + bc)x + bd = (ax + b)(cx + d)
@eh. oh @ (1, (°h ® (b, (b
@ (%), (7h © 7h, (=)

¥+ 2xy+y? -1
=(x+y)?-1 - a®>+2ab+b*>=(a+b)? °l&
=(x+y+1(x+y-1) - (@ -b*)=(a+b)(a-b)




@ x? +4x @ x-2 ((@(x—i—@2

@ 2+4x+1 ® x24+4x+3

B

x2 4 4x =t 2 | golH
P+3t—4=(-1)(t+4)
= (2% +4x—1)(x* + 4x +4)
= (x® +4x—1)(x+2)?




7. (= D(x=3)(x=5)(x=7) +k 7t FAAFH] F5B 44 & o

29

® 2 @ 4 ® 6 @ 11 ®)16

(x-Dx-7)(x-3)(x-5)+k

:( - 8x+7)(x>—8x+15) +k
—Sx=A=% EOH,

(A+7)(A+15)+k

=A%+ 22A+ 105+ k= (A +11)2

5105+ k=112 =121

k=16




8.

x? = 2xy +y? —bx+ 5y + 4 & I5-HloHH?

@ (x-y-2)(x-y-1)
® (x+y+4)(x+y+1)

® (x-y-4)(x-2y-1)

@ (x-y+4)(x-y+1)

@ (x+y-4)(x+y-1)

x2—2xy+y?>-5x+5y+4
= (x-y)?-5(x-y)+4
=(x-y-4)(x-y-1)




9. =243 ,b=173 & W, a® - 2ab + b* °] F2?

@® 0.36 (@)0.49 ® 0.64 @ 0.81 ® 121

(a—b)? = (243 -1.73)%2 = (0.7)2 = 0.49




10. x=2+4 V2, y=2v2-3 & 1|, 3x2 - 10xy + 3y* & g F6}H?

D 89 -31+2 @ 89-32+2 ® 89 -332
@)s9-31+2 ® 89-35V2

B

3x% = 10xy + 3y? = (3x —y)(x - 3y)
= {32+ V2)- (2v2-3)}
{2+ V2)-3(2V2-3)} = (9+ V2) (11-5+2)

=99 -45v2 +11v2 - 10
=89 — 342




